
• KAPAĞA MONTE KÖRKÖŞE MEKANİZMASI MONTAJ ŞEMASI
• SECRET CORNER MECHANISM MOUNTED TO LID MOUNTING INSTRUCTIONS

205

205
71

14082 140 117

15
8.
5

15
8.
5

15
8.
5

15
8.
5

96

37.5

10
2

(SAĞ)
(RIGHT)

M5x10 RYSB/4 M6x45 YSB/1

6020

327175

�������������
���

������
��������������

6
0

staraxaccessories starax staraxofficial www.starax.com.trstarax ISO 9001



• KAPAĞA MONTE KÖRKÖŞE MEKANİZMASI MONTAJ ŞEMASI
• SECRET CORNER MECHANISM MOUNTED TO LID MOUNTING INSTRUCTIONS

205

205
71

M5x10 RYSB/4 M6x45 YSB/1

140 82140117

15
8.
5

15
8.
5

15
8.
5

15
8.
5

96

37.5

10
2

(SOL)
(LEFT)

60
20

327
175

M5x10 RYSB/6

�������������
���

������
��������������

6
0

staraxaccessories starax staraxofficial www.starax.com.trstarax ISO 9001


